== A
N = 0] &F AF S & AN A
20218 = 20l A LEHS H ME=X]
SN XD
HE: HASSE MEOUY B3
EHe: AQIME=SI XS (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
ME =T 205,931,817 197,230,339 8,701,478
= 134,346,007
g 3,409,514
Jl 200,000
= 18,977,495
Al 48,998,801
NASES MEOY BH 114,839,600 108,392,952 6,446,648
= 89,780,424
g 3,409,514
= 7,881,515
Al 13,768,147
ASIME=ST X 12,480,243 9,908,519 2,571,724
= 4,301,064
o= 589,718
Al 7,589,461
Al 22X 2 29 3,050,184 2,953,616 96,568
307 QI2t0| ™ 3,050,184 2,953,616 96,568
05 QIZtREZ 1,886,440 1,838,909 47,531
OAE S X2 21| 1,646,440
OAMS=EX2 24| 240,000
10 A SXNANEEHESIHEX 1,163,744 1,114,707 49,037
OAE S X2 21 AH4H| 1,123,744
OAMS=EX2 24| 40,000
MNSIEX2H SAIL EELE 92,520 91,080 1,440
& 27,756
Al 64,764
307 gizto| A 92,520 91,080 1,440
& 27,756
Al 64,764
11T A EXAIEEX 92,520 91,080 1,440
OMISK2 SANL S8 92,520
= 27,756
Al 64,764
Atgl2X2 X9=2X T2 29| 50,000 50,000 0
o= 10,000
Al 40,000
307 212t0| ™ 50,000 50,000 0
= 10,000
Al 40,000
11 A EXAIEEX 50,000 50,000 0
OAMS 22X XNEEX T2 2AH| 50,000
& 10,000
Al 40,000
AMSEX2 AHEZZ)H IS 20,000 20,000 0




SN XD
HE: HASSE MEOUY B3
Sl A ME=T X EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 20,000 20,000 0
11T M SRASEEX 20,000 20,000 0
OM=EZE A =X 2 4,000
OX=ZE A EX 2 4,000
OESEE A =X 2 4,000
OS &S E A2 =Xl 2 4,000
O EE A =SR2 4,000
AMII=EX2 JIsEH 500,439 37,842 462,597
< 30,132
Al 470,307
402 BI2FX=0| M 500,439 37,842 462,597
< 30,132
Al 470,307
02 QI EALEZ (01X THE) 500,439 37,842 462,597
OAZER2 JIsEL 500,439
< 30,132
Al 470,307
CS0AE A2 (A &) 27,000 27,000 0
307 21201 A 27,000 27,000 0
05 RIZt2IE = 27,000 27,000 0
OL=0A4 A2 (ME F) 27,000
C=0AE 29 1,016,526 1,012,617 3,909
= 585,285
< 250,837
Al 180,404
307 21201 A 1,016,526 1,012,617 3,909
= 585,285
= 250,837
Al 180,404
10 AL SXAIEEE2EH EX 1,016,526 1,012,617 3,909
OL=CANE 29 1,016,526
= 585,285
< 250,837
Al 180,404
C=00AE JIsER 11,180 30,008 A 18,828
= 5,590
< 2,795
Al 2,795
402 RI2EX=20l A 11,180 0 11,180
= 5,590
< 2,795
Al 2,795
02 LA TEALEZ(0IETHR) 11,180 0 11,180
OL=QAE JIsEd 11,180




SH: ME=XD
HE: HASSE MEOUY B3
Sol: AQIMESR XS EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 5,590
= 2,795
Al 2,795
=X ESHI(EH) 733,493 685,453 48,040
< 220,048
Al 513,445
307 glz2tol & 733,493 685,453 48,040
< 220,048
Al 513,445
11T M SXASE EX 733,493 685,453 48,040
C=I BESHl(EH) 733,493
< 220,048
Al 513,445
AMZIEXAL E1=H XI& 30,352 13,008 17,344
307 glz2tol & 30,352 13,008 17,344
11T MISXASEX 30,352 13,008 17,344
OAZEXA B =Hl K& 30,352
ABIZXIAL =2 XILE K& 81,300 81,900 A 600
307 21201 A 81,300 81,900 A 600
11T MISAASEX 81,300 81,900 A 600
OAMEI=XIAL 2X2HE X & 81,300
M2 =XAL Sotel gsHl X& 11,000 11,000 0
307 21201 A 11,000 11,000 0
11 ALS S XALEE = 11,000 11,000 0
OAM3I=XIAL S0tel &=sdl XI& 11,000
e Xt AHeto i 1,000 1,000 0
301 LEEAZ 1,000 1,000 0
12JEEd=S 1,000 1,000 0
Ogled Xt He bl 1,000
IRASHSAY 76,000 76,000 0
< 10,150
Al 65,850
307 21201 A 76,000 76,000 0
< 10,150
Al 65,850
11T MISXASEX 76,000 76,000 0
OIIRASHS AL 76,000
< 10,150
Al 65,850
A&AAHNE 2UAZEEZ X2 60,000 51,840 8,160
301 LeEBAF 60,000 51,840 8,160




SN XD
HE: HASSE MEOUY B3
EHe: AQIME=SI XS (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
01 Al E & A 452 60,000 51,840 8,160
OXARAHE 202A02EEH= XH 60,000
AN E2H 22| 551,460 538,330 13,130
301 et A =2 551,460 538,330 13,130
0B AISIE22IEZ A= 551,460 538,330 13,130
OAZ=SR22Y FSAH X2 544 320
ONI=R2 BaMY s 7,140
Me=X d2=X 20,000 20,000 0
203 &R F & 20,000 20,000 0
03 AIZH =& 2 F X H| 20,000 20,000 0
O=X&d RN 9,000
OME=XANE 43 =& 6,000
OMEE2TMEIA =X 5,000
SIAE S FAAE JIs22 100,000 100,000 0
402 SI2FXHE0| & 100,000 100,000 0
01 BIZtRIEAYE X (KM TH ) 100,000 100,000 0
O=XANE S FEAE JIs22 100,000
KNSGAS G S22 S 80,000 100,000 A 20,000
307 QI2t0| ™ 80,000 100,000 A 20,000
11T A EXAIEEX 80,000 100,000 A 20,000
OXSAMISH 223 HEHIA 80,000
SAAIY 2435 30,000 30,000 0
201 et d| 30,000 30,000 0
01 AP 2t 2| bl 30,000 30,000 0
O=Z2XAMY 43 30,000
Ol R2SH| X& 34,000 34,000 0
& 34,000
201 LBt 5,000 5,000 0
= 5,000
01 AP 22| H| 5,000 5,000 0
OO0l P2SH| 5,000
o= 5,000
301 et M= 25,000 25,000 0
& 25,000
01 Al B & X 26 2 25,000 25,000 0
OO0| Bl RS H| 25,000
= 25,000
307 2Iz2t0| & 4,000 4,000 0
= 4,000




SN XD
HE: HASSE MEOUY B3
Sl AlRIME=T X (B9 ®R)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
02 It M AHE L 4,000 4,000 0
OO0l R SH 4,000
= 4,000
SR EgEl2 A 2,000,000 0 2,000,000
401 Al HIZ 201 8] 2,000,000 0 2,000,000
01 A& HI 2,000,000 0 2,000,000
SR =SH=ENB A 2,000,000
C=0AE 2AIESH XN# 13,600 13,600 0
301 LeHEAF 13,600 13,600 0
01 AR 2Z A5 3 13,600 13,600 0
OL=0l YAES A XA 11,500
OL=0 YAES Y XA 2,100
AMERHE XA 3,710,189 3,489,725 220,464
= 3,710,189
301 LA S 3,710,189 3,489,725 220,464
= 3,710,189
0B M ERRIABAS 3,710,189 3,489,725 220,464
OMI=EERE == 3,292,454
= 3,292,454
OAMI=2R I=4| 81,906
= 81,906
OMIE2R2E sl 335,829
= 335,829
ASI S XA S22 WS 20,000 20,000 0
201 Let24dy] 20,000 20,000 0
01 At 2teltl 20,000 20,000 0
OMEISXIAL S&23 s 20,000
MIISX AL SA SS2SALS 124,000 124,000 0
201 £B-2dH| 24,000 24,000 0
01 At 22l 24,000 24,000 0
OMIISRAE SALL FS2SHALS 24,000
301 LEXS 100,000 100,000 0
06 212t01= 2| 04 Hl 100,000 100,000 0
OAMASKAE SALAL A2 sHALS 100,000
ASISXIAIE AED(HIMISO1) XI& 16,000 0 16,000
405 TtHebF S| 16,000 0 16,000
01 AL EFFH S 16,000 0 16,000
OAtZI =S XIAIE AED(MIAMISOI) XI& 16,000
M5 NAASIEEAHE (XGASI EEHEA) 20,000 0 20,000
< 4,000




2N
X ZH -
L= B

el

= 2 0z
2 k- e
0z JIn Ji
e oy =
_”'[[ >.\—_v“_—|
o
)

0
ﬁﬂl
o 0%

Pl

H
02

SN P SA(EN) - MBAY - BES

Off &t 24

=
i

2

Al

16,000

308 AHXIEHHMS0IE

= M

20,000

4,000
16,000

,000

07 XXl EHl2t

cr2
(==

OHM5Il XIFASE

= M

20,000

20,000
4,000

16

,000

20,

000

NS5 MHlA XI&

Z N A

7
6

,359
479
,409
,291

178,

,357

,360
514
7197
686

98,484,433

3,874,

924

=z MW

90,

81
6
2

829
. 746

817
,836

85,991

464

,358,087
. 724,894

4,838,

353

301 LEIEN =

= H W

90,

81
6
2

829
. 746

,358,

724

817
,836
087
,894

85,991,

464

4,838,

353

= M W

90,

829

,817

90,829,817
81,746,836

6,358,087
2,724,894

85,991

464

4,838,

353

72,552

72,

552

72,552

72,

552

72,552
72,552

72,

552

= Hn

376,497
338,847
26,355
11,295

565,

573

A 189,

076

= 0 W

376,497
338,847
26,355
11,295

565,

573

A 189,

076

= N H

376,497
376,497

338,847
26,355
11,295

565,

573

A 189,

076

3,969,847

3,175,877
317,588

2,890,

597

1,079,

250




2N
X ZH -
L= B

el

N

il
M
40
o
=
x
ir
=
1%
(e
0x
Jo

Off &t 24

=

i
2

476,382

= N W

3,969,847
3,175,877
317,588
476,382

2,890,

597

1,079,250

zZ W

3,969,847

3,969,847
3,175,877
317,588
476,382

2,890,

597

1,079,250

N

AXNESE MIMEIA EXAY

=z N

4,870,734
3,409,514
487,073
974,147

4,902,

188

A 31,454

201

e
e
H0
0
=

=z N

1,954
1,368
196
390

,954

01 At2 22l b
OXNAXEE AMSMHA SEXAS

ol AIEY

1,954
1,954

1,368
196
390

,954

202 Oddl

= N A

1,050
735
105
210

,050

01 2 OHI
OXNYGXEE ASIMHIA EXAY

el RN

1,050
1,050

735
105
210

,050

403 TtXI M SA=01A

=z N4

4,867,730
3,407,411
486,772
973,547

4,899,

184

N 31,454

= mn i

4,867,730
4,867,730

3,407,411
486,772
973,547

4,899,

184

AN 31,454

o

8 sd=sN =4

105,000

105,

000

307 21201 &

105,000

105,

000

1A SXAIS 2 =

Od=SUESI A

105,000
105,000

105,

000

=13
=

e

rr

ool gte

0e

Otel et

678,900

678,

900




AN MESID
HE: HASSE MEOUY B3
ASE MHIA X 9 &)
5 - 4
HH - B (3H) - KA - BYS e 2
301 LEHZ 678,900 678,900 0
12JEEd=S 678,900 678,900 0
O A= & LEHE HHE 678,900
58 EENREUH 23 XA 180,370 177,710 2,660
< 36,074
Al 144,296
307 glz2+ol & 180,370 177,710 2,660
< 36,074
Al 144,296
11T MISRASER 180,370 177,710 2,660
OMESIHESHE 29 180,370
< 36,074
Al 144,296
ASE MEBOE X 40,000 40,000 0
301 LeEBAF 40,000 40,000 0
01 AR 2Z A5 3 40,000 40,000 0
OMASIHE X & 20,000
OAMSI=XAIE XA 20,000
HFA NGASEEEAM 29 226,000 226,000 0
301 LEXS 126,000 126,000 0
12 JIEE2 43 126,000 126,000 0
O3 XNIANI2EEAM 294 126,000
307 21201 A 100,000 100,000 0
10 ALl SXAIEEE2EHEX 100,000 100,000 0
OEFAl NEMIIEEHEANM 22 100,000
=X & A X 11,000 11,115 A115
307 gl2tol & 11,000 11,115 A115
11T M SXALSE EX 11,000 11,115 A115
OAMSIEXIS & &A XA 11,000
HEeS e-dBSKEMHIA X2 7,000 7,000 0
201 LBt 7,000 7,000 0
02 =224l 7,000 7,000 0
O =Ees e~ SEANHIA X& 7,000
AT SeAtel el X2 24,000 24,000 0
= 12,000
Al 12,000
201 et 9,600 9,600 0
= 4,800
Al 4,800
01 At 22l 9,600 9,600 0




2N ME=sX
M HASE MEON 2F
©9l: NASS AHlA X8 9 )
= - 4 14
H .o (3H) - HSAY - B gﬁ‘&i HDS2
OAZF SE At 2el K& 9,600
2 4,800
Al 4,800
202 04| 2,400 2,400 0
= 1,200
Al 1,200
01 2LHOHI 2,400 2,400 0
OANZF SEAd 22 X3 2,400
= 1,200
Al 1,200
301 dEtE M= 12,000 12,000 0
= 6,000
Al 6,000
01 AL EE & 2352 12,000 12,000 0
OAZF SEAtdl 2el K& 12,000
= 6,000
Al 6,000
HE U5E SgAMEA I 294,000 294,000 0
= 205,800
Al 88,200
201 et A | 117,600 117,600 0
= 82,320
Al 35,280
01 AFR2t2ldl 100,492 100,492 0
O=sHs A=d SEMEIA XA 100,492
= 70,344
Al 30,148
02 =294l 17,108 17,108 0
OSHs ¥EE SEAMUA XA 17,108
= 11,976
Al 5,132
301 et X = 176,400 176,400 0
= 123,480
Al 52,920
01 AL B & X £33 176,400 176,400 0
oOsHs ¥&8 SEMEA XN&E 176,400
= 123,480
Al 52,920
HdFAl SXHESt MBFAME 29 540,000 260,000 280,000
306 EH= 540,000 260,000 280,000
01293 540,000 260,000 280,000
ONFA SXNHHSt dFAE 29 540,000
S8 I ZMESEANS 132,640 80,000 52,640
< 66,320
Al 66,320




SN XD
HE: HASSE MEOUY B3
Sl HASS MHIA N CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
301 et A= 132,640 80,000 52,640
== 66,320
Al 66,320
01 AR E & A 462 132,640 80,000 52,640
ONEY J|IZMEBZAAY 132,640
= 66,320
Al 66,320
NEAMIEHEAM D= X 1,000 0 1,000
= 300
Al 700
201 2Et24Ay| 1,000 0 1,000
& 300
Al 700
01 AP 22| d| 1,000 0 1,000
OXSEMIIEHEAM WE X 1,000
& 300
Al 700
28 E 22 3,163,111 4,876,698 N1,713,587
o= 611,120
Al 2,551,991
2& 22 3,163,111 4,876,698 N1,713,587
o= 611,120
Al 2,551,991
2842 & 2,493,360 2,687,400 A 194,040
=} 591,120
Al 1,902,240
301 et M= 2,493,360 2,687,400 A 194,040
= 591,120
Al 1,902,240
01 Al B & X 26 2 2,493,360 2,687,400 A 194,040
oBEZ4+4% XA 2,493,360
& 591,120
Al 1,902,240
OJAFA R =& X & 5,760 5,760 0
301 LBt A= 5,760 5,760 0
01 Al E& A %52 5,760 5,760 0
O2YANAX =& X& 5,760
BEA ¥ X XS 418,700 421,000 A 2,300
201 LBt 9| 8,000 8,000 0
03 A2 H HI 8,000 8,000 0
OBEANLE SAI2e 252 8,000
307 QI2t0| & 410,700 413,000 A 2,300
02 QI2tAAMAIE E =X 91,700 94,000 A 2,300
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SN XD
N 2)2EB
SERNCE 1 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 40,000 40,000 0
< 20,000
Al 20,000
11T M SXASE EX 40,000 40,000 0
OH=S=E2SHANZ 24 40,000
< 20,000
Al 20,000
HEESI3A AMLRAZS X2 20,000 20,000 0
301 LPEAZ 20,000 20,000 0
01 MEIBEE 2053 20,000 20,000 0
OHERSA ALRAZ2S X2 20,000
H=A 2232 29X 35,000 35,000 0
201 et 30,000 30,000 0
01 At 2teltl 15,000 15,000 0
OdFA B3 2N 15,000
02 =224l 15,000 15,000 0
OE=A E23l2 24X & 15,000
401 AIEHI L 2 CHYI 5,000 5,000 0
01 A& HI 5,000 5,000 0
OdFA 2232 NERAE=s 5,000
e sisd 78,174,376 73,758,792 4,415,584
= 44,401,297
J| 200,000
< 10,484,860
Al 23,088,219
Zopel Meory XA 62,390,819 58,410,422 3,980,397
= 39,809,624
< 7,800,896
Al 14,780,299
Zoe SXL el X 1,063,418 1,023,468 39,950
= 531,709
< 212,684
Al 319,025
307 21201 A 1,063,418 1,023,468 39,950
= 531,709
< 212,684
Al 319,025
11T AL SXAEE X 1,063,418 1,023,468 39,950
OIS LRl XA (12dl) 1,063,418
= 531,709
< 212,684
Al 319,025
ZOoHQ Lt A xtel X 1,876,862 1,785,010 91,852
= 938,431




2N
X ZH -

L= B o
el

NET=Byn!

o=

SA -3 SH2A(3AH) - MRA

01
o

Off &t 24

=

i
2

= H

375,372
563,059

= M W

1,869,881
934,941
373,976
560,964

1,778,290

91,591

04 DIt 22 XS+

= N W

1,869,881

1,869,881
934,941
373,976
560,964

1,778,290

91,591

201 2Bt2 |

=z N W

6,981
3,490
1,396
2,095

6,720

261

01 AR 2t el

©
0
2
e
e

gt dXtel X

= MW

6,981
6,981

3,490
1,396
2,095

6,720

261

Ol AlEM & Xtel K&

= N W

328,314
164,157
65,663
98,494

306,200

22,114

= W

326,801
163,401
65,360
98,040

304,760

22,041

04 JIZtHNZ22 s+

OFoHALXtel K& (A2MLRel)

Z N W

326,801

326,801
163,401
65,360
98,040

304,760

22,041

=z N H

1,513
756
303
454

1,440

73

= 0N

1,513
1,513

756
303
454

1,440

73

= H H

268,895
215,116
21,512
32,267

266,515

2,380

307 21201 &

268,895

266,515

2,380




2N
X ZH -
L= B
el

!

o=

(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 215,116
< 21,512
Al 32,267
11T MISXAS EX 268,895 266,515 2,380
OAIZZO0HQl QDAL IHA AF 268,895
= 215,116
< 21,512
Al 32,267
ZOHQ LXelXNJAHH 22 70,000 67,000 3,000
307 21201 A 70,000 67,000 3,000
05 RIZt2IEt = 70,000 67,000 3,000
OQl2ddl & 24l 70,000
HAasZfel s Litel N3 200,000 200,000 0
307 gl2tol & 200,000 200,000 0
05 BIZHRIE 3 200,000 200,000 0
OeldH & 2l 200,000
ol xiel oh=20tg 24 2,000 2,000 0
201 L4l 2,000 2,000 0
01 At 22l 2,000 2,000 0
OFoHeILXtel C20tEe 29 2,000
ZOHUEXRDI|F? W 24,880 22,176 2,704
= 19,905
< 1,990
Al 2,985
301 LEEBA S 24,880 22,176 2,704
= 19,905
< 1,990
Al 2,985
01 MEIBEE 263 24,880 22,176 2,704
OXOHe HEEXI|F W 24,880
= 19,905
S 1,990
Al 2,985
Foperelzdl X& 845,334 865,589 A 20,255
= 676,267
< 67,627
Al 101,440
308 AHAIEHHSOIA 845,334 865,589 A 20,255
= 676,267
< 67,627
Al 101,440
1132 SoHUHSBHEAEALS I 845,334 865,589 A 20,255
oFoele=dl XI& 845,334
= 676,267
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1,437,237
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3,353,554

15,007,711

961,594
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g Zoe =X

ol mOHOl ME

SA-3H-S(3AH) - MRAS - BES Off &t 24
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OFZOM 0Is212l =2l & XN 68,000
E
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= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
201 ¢er24| 5,000 0 5,000
01 At 22l 5,000 0 5,000
OLLHMR F2E8S MHIA K& 5,000
403 MtXISHHE X201 & 1,863,429 1,057,143 806,286
= 1,304,400
< 167,709
Al 391,320
02 SO 2S0HHEHAE X 2 E AL 1,863,429 1,057,143 806,286
OLgTMe =283 MHlA K& 1,863,429
= 1,304,400
< 167,709
Al 391,320
LAY ST FSAHUHA R 1,006,952 952,944 54,008
= 704,867
< 90,625
Al 211,460
403 X EHHSH20lA 1,006,952 952,944 54,008
= 704,867
< 90,625
Al 211,460
02 SO 2SOIlCHSH A2 X 2 &AM I 1,006,952 952,944 54,008
oLg ey Hus sMHlA XA 1,006,952
= 704,867
= 90,625
Al 211,460
SSHMHL XNGRXEsE HYNA 152,320 145,596 6,724
= 51,300
< 15,390
Al 85,630
307 glz2+ol & 152,320 145,596 6,724
= 51,300
< 15,390
Al 85,630
11T M SXAIS EX 152,320 145,596 6,724
O=sZM XNAEsE HEXA 152,320
= 51,300
= 15,390
Al 85,630
SSHM NGLESE FHAIXF (AFE22Hl) 2,058 2,058 0
= 2,058
201 2et24d] 1,700 1,700 0
= 1,700
01 At 2teltl 500 500 0
OZEZTEHMC XNIFAEFE FAXNA (AL 2LHI) 500
= 500
02 =224l 1,200 1,200 0
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PN HESIIB

g Foje sxsd

el mojel S X (el:de)
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
OX=Al ZOHA=SXNEEUHE & SHBA (S
ZUHASXNEMAALEFTAIX ) 2,000
OFMARR ZALSE <5 ez 18(
A& EOH Q1 K& A4 2 Ml 7,000
OEXNZEOY AAZMA=XUHE L HMSUHSI(
HEALZOHNAS S MFAIKXZ]) 10,000
OFMAHRY 222 23 L HILHE X (&
SN ELIHFAIXE) 3,000
OFMHAHSY 222 HAWH(GIRMHARLZ
S EFAKXER) 2,000
A ZOHQAEH SHES 32,000 32,000 0
307 2201 A 32,000 32,000 0
10 AL SXNAIEEE2EHEX 32,000 32,000 0
OXFAl ZOHAEH SHEs 28 & 22AH| 32,000
O AFR A X3 27,998 26,100 1,898
307 glz2tol & 27,998 26,100 1,898
10 AL SXAIEEE2EHEX 27,998 26,100 1,898
OFOHA M A& XIJ(10MEH 2LHl) 27,998
Zojerel & @At 16,000 16,000 0
307 21201 A 16,000 16,000 0
11T MISAASEX 16,000 16,000 0
OFM2 & JIEHA 16,000
ZOHe ARM=CHS 12,000 12,000 0
307 21201 A 12,000 12,000 0
11T M3 SRASEEX 12,000 12,000 0
OZoe SotSH=EU X 2t A 12,000
HOQIEHOEX J=X2MH 2 178,684 151,141 27,543
< 48,244
Al 130,440
307 gl2tol & 178,684 151,141 27,543
< 48,244
Al 130,440
10 ALl SXNAIEEE2EH EX 178,684 151,141 27,543
OXOHQAEHEHASA J=XNIAdEH 29 178,684
< 48,244
Al 130,440
AEFHe NEXNALH 29 147,330 143,291 4,039
< 29,466
Al 117,864
307 glz2+ol & 147,330 143,291 4,039
< 29,466
Al 117,864
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Zoper Al X

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
10 AL SXNAIEEE2EH EX 147,330 143,291 4,039
OXNHFO THHIABME 2 147,330
= 29,466
Al 117,864
AZEe s 12,468 12,468 0
< 3,740
Al 8,728
307 21201 A 12,468 12,468 0
< 3,740
Al 8,728
11T MISXASEX 12,468 12,468 0
OAZZO0HR HEXwS 12,468
< 3,740
Al 8,728
OEEMe WsXZ 49,620 49,293 327
= 34,734
< 5,954
Al 8,932
307 glz2tol & 49,620 49,293 327
= 34,734
< 5,954
Al 8,932
11 ALSI S RALEE = 49,620 49,293 327
OWAZMHL NEAY 49,620
= 34,734
< 5,954
Al 8,932
Zopel ofstw 24 X3 122,000 100,000 22,000
< 36,600
Al 85,400
307 glz2tol & 122,000 100,000 22,000
< 36,600
Al 85,400
11T M SXAIS EX 122,000 100,000 22,000
OHME Ot 29 X& 122,000
< 36,600
Al 85,400
H=A =0 23HH i = 18,000 18,000 0
307 21201 A 18,000 18,000 0
11T MISRASEX 18,000 18,000 0
O&EF=Al =0 23tH = 18,000
ZOHAUEHAIRY dHESS N&E 50,000 700,000 A 650,000
406 JIEtX =01 & 50,000 700,000 A 650,000
01 JIEtA =201 A 50,000 700,000 A 650,000

_24_




2N

ME =0

Hu: ool 2N
S HOoHe S X (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OZOMAHAMPA dUHESS X 50,000
HEANLRHQAAES HEXS HE 2LBA(E & 100,650 0 100,650
OF 0ff &F)
< 100,650
402 RI2EX 20| N 100,650 0 100,650
< 100,650
02 QI 2 A EZ (01X TH ) 100,650 0 100,650
OXSAIAEONOUES BFEXS 2E P42
At 100,650
< 100,650
Zofel SXAE X3 14,844,857 13,912,877 931,980
= 4,556,939
J| 200,000
< 2,459,310
Al 7,628,608
FAURAANE 2EXH 2,270,522 2,053,240 217,282
= 1,589,365
< 681,157
307 21201 A 2,270,522 2,053,240 217,282
= 1,589,365
< 681,157
10 ALl SXNAIEEE2EHEX 2,270,522 2,053,240 217,282
OFAQRAAIL 2FH| 2,270,522
= 1,589,365
< 681,157
BURAANE S SAMA EE€F 55,800 54,720 1,080
< 16,740
Al 39,060
307 glz2tol & 55,800 54,720 1,080
< 16,740
Al 39,060
11T M SXAIS EX 55,800 54,720 1,080
OFUQLAANE S SAA SEE 55,800
< 16,740
Al 39,060
HAUQUAL MEZ2I N 13,200 13,840 A 640
< 3,960
Al 9,240
307 21201 A 13,200 13,840 A 640
< 3,960
Al 9,240
11T MISAASEX 13,200 13,840 A 640
OFAQLAALE ME=Zzd X2 13,200
= 3,960
Al 9,240
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= M W
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= M W
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= M W
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zZ W

3,656,161
2,559,312

219,370
877,479

3,405,005

251,156

307 glz2tol &

=z W

3,656,161
2,559,312

219,370
877,479

3,405,005

251,156

10 A2 SXAEHE2

g
OFML HAFAE 2 X&

= MW

,656,161

3,656, 161
2,559,312

219,370
877,479

3,405,005

251,156

O HFAE DsEY

= MW

28,572
14,286

4,286
10,000

69,624

N41,052

= W

28,572
14,286

4,286
10,000

69,624

N41,052

28,572
28,572
14,286

69,624
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ME =0
ol sXsd
el SXAE X

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

= 7,286
Al 10,000

O F2AESAIE 29 2,330,683 2,237,066 93,617
== 466,137
Al 1,864,546

307 2Iz2t0| A 2,330,683 2,237,066 93,617
= 466,137
Al 1,864,546

10 MM SXANEEHESIGHEX 2,330,683 2,237,066 93,617
OZQ F2AESAIE 29 2,330,683
& 466,137
Al 1,864,546

0ROl OF2 SEAIY 301,170 298, 440 2,730
< 60,234
Al 240,936

307 giztol A 301,170 298,440 2,730
& 60,234
Al 240,936

11T A EXAIEEX 301,170 298,440 2,730
OZ0HCl Ot =2 A 301,170
= 60,234
Al 240,936

ZOHQ ZESMEIIE 29 260,206 181,000 79,206
< 26,021
Al 234,185

307 212t0| & 260,206 181,000 79,206
=} 26,021
Al 234,185

10 AISIEXAIEEHE2IHIEX 260,206 181,000 79,206
O&MC ssMeEId 8¢9 260,206
< 26,021
Al 234,185

R SHIIBESAIE 29 290,443 320,000 N 29,557
< 58,088
Al 232,355

307 2iz2to| A 290,443 320,000 N 29,557
< 58,088
Al 232,355

10 MM SAANEEHESIGHEX 290,443 320,000 N 29,557
OZOHO TIIBEAL 2 290,443
< 58,088
Al 232,355

ZO0HQ EXANE SAIN EE€4H 308,093 289,440 18,653
= 92,428
Al 215,665

307 QI2t0| ™ 308,093 289,440 18,653
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PN HESIIB

g Foje sxsd

Sl FOHQ SXAIL X (sl &2)
SA - BB B () - MM - BES Ol &t o San HmEET
< 92,428
Al 215,665
11T M SXASEX 308,093 289,440 18,653
OHM SXAE SAX S8 308,093
< 92,428
Al 215,665
Zofel HA(ME) H=AIE XA 97,226 440,000 A342,774
= 9,723
Al 87,503
307 21201 A 97,226 440,000 AN342,774
< 9,723
Al 87,503
10 ALSISXAIEEE2IHEX 97,226 440,000 A342,774
OFO0He HE(ONQ) HF=ALE K& 97,226
< 9,723
Al 87,503
O NEME HEEE 22 579,347 556,944 22,403
307 gl2tol & 579,347 556,944 22,403
11T M SRAISE EX 579,347 556,944 22,403
O NSdE MEE A 438,227
OXOe NHSME XHES 223l 141,120
ZOoHeI =SR2 29l 1,378,087 1,302,602 75,485
< 275,617
Al 1,102,470
307 21201 A 1,378,087 1,302,602 75,485
< 275,617
Al 1,102,470
10 M2 SXNANEHE2IHEX 1,378,087 1,302,602 75,485
OZOM=EXZ 23HI 1,378,087
< 275,617
Al 1,102,470
oo dE=2=2E 29 120,000 120,000 0
307 glz2tol & 120,000 120,000 0
05 RIZHRI & 3 120,000 120,000 0
OZMY ds==E 24 120,000
ZOHQ =3tSAHH 294 310,741 294,103 16,638
< 62,148
Al 248,593
307 glz2+ol & 310,741 294,103 16,638
< 62,148
Al 248,593
10 ALSISXAIEEE2EH EX 310,741 294,103 16,638
OHME =3tSddH =29 310,741
< 62,148
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2N
X ZH -
L= B

el

ME =0
ol sXsd
el SXAE X

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

| Al 248,593

ZOHQ ME Ols NJMH 2 273,922 262,543 11,379
< 54,785
Al 219,137

307 gl2tol & 273,922 262,543 11,379
< 54,785
Al 219,137

10 ALl SXAIEEE2EH EX 273,922 262,543 11,379
OZMQ M& 0ls NHHH 29 273,922
< 54,785
Al 219,137

AR (BEX) SHE 29 127,396 102,675 24,721
< 63,698
Al 63,698

307 glz2tol & 127,396 102,675 24,721
< 63,698
Al 63,698

11T MISXASEX 127,396 102,675 24,721
OANATNL (BR) CHE 29 127,396
= 63,698
Al 63,698

IO MYWEAL S| 1,318,545 1,181,671 136,874
= 263,709
Al 1,054,836

307 21201 A 1,318,545 1,181,671 136,874
< 263,709
Al 1,054,836

10 M2 SXNANEHES2IHEX 1,318,545 1,181,671 136,874
OXOHQ HNATHEAE 2Dl 1,318,545
= 263,709
Al 1,054,836

ZOHQ MNATHEALE JIsEL 481,696 607,146 A 125,450
= 240,848
< 72,254
Al 168,594

402 RI2HX=20| M 481,696 607,146 A 125,450
= 240,848
< 72,254
Al 168,594

02 QI EAILEZ (01X S) 481,696 607,146 A 125,450
OZOML XNAMMEAL JISsEL 481,696
= 240,848
= 72,254
Al 168,594

HOHQUHFAIL BOIHED BE X 2,958 4,102 A1,144
= 1,776
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PN HESIIB
g Foje sxsd
el ZoHe SXAIE X3 (Sl & &)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

353
829

= H

307 21201 & 2,958 4,102 A1,144
1,776
353
829

= M W

22X 2,958 4,102 N1, 144

4 ZIEF) dg XA 2,958

1,776
353
829

= N W

0x
-
0
02
>
X
s
02
o
&
ton

5,000 9,000 A 4,000

= 2,500
Al 2,500

402 212t X201 & 5,000 9,000 A 4,000

2,500
Al 2,500

H

02 (IR 2ALE X (01 ETHR) 5,000 9,000 24,000
OJAURAAIE AU 5,000

2,500

2,500

= M

ZOHANFAIE HEXNEF D" XN 173,174 0 173,174
121,222
10,390
41,562

= N W

307 21201 & 173,174 0 173,174
121,222
10,390
41,562

= N H

10 AR SAAIEHISSHIEX 173,174 0 173,174
OZOMANFAIE MEXNZH WO X 173,174
121,222

10,390
41,562

=z M H

e
o
[
0
2
o
=
Ho
o
=
=

H 28 219,500 0 219,500
Il 200,000
Al 19,500

207 & 5 JH & Hl 19,500 0 19,500

01 23329 19,500 0 19,500
OBl FUAMSSXNLE AHAE 19,500

401 AIEHIZ 2 I 200,000 0 200,000
Jl 200,000

01 A& HI 200,000 0 200,000
OBl ZOAME=SXME AE 200,000
Il 200,000
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PN HESIIB

g Foje sxsd

Sl Zojel =SXAL X CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O MEFIYE SE2HCIAIAHY &X 180,000 0 180,000
401 Al HI K 201 I 180,000 0 180,000
01 A& Bl 180,000 0 180,000
OFH MEFXTY SE2CIAIAE &X 180,000
HE2HZH (ME=1) 901,470 1,248,637 A 347,167
= 164,286
Al 737,184
A IEH (ME =X D) 794,064 1,112,219 A 318,155
2 164,286
Al 629,778
ol AH (MEsX1) 465,492 786,559 A 321,067
101 1A Hl 465,492 786,559 A 321,067
01 2= 465,492 786,559 A 321,067
OAZIZESE 440,841
Oxg=2f=¢ 24,651
@Kt MEf S22t 15,262
OUEHIISHEY 9,389
S At &2l Ab el 2| 328,572 325,660 2,912
= 164,286
Al 164,286
101 @124l 328,572 325,660 2,912
= 164,286
Al 164,286
03 RIAHA2ZZHE > 328,572 325,660 2,912
OSe At 2telAr elAdl XI& 328,572
= 164,286
Al 164,286
Jl2dd(4g=sxa) 107,406 136,418 A 29,012
2y (Mg=x1) 107,406 136,418 229,012
201 LBt 2t 56,586 71,498 £ 14,912
01 At 22l 48,586 63,498 A 14,912
O 2 et==EH| 24,000
oz2g+g 3,000
O= &l 20,736
OSRKIHAR &AL S2 Z4ld] 850
02 =24l 8,000 8,000 0
o0z22= % HA 8,000
202 O4dl 43,320 56,760 A 13,440
01 2404l 43,320 56,760 A 13,440
OJl=2gRF=A 0o 43,320
203 AR EF Y| 7,500 8,160 £ 660




AN MESID
M HY2IZH (MESI D)
¢ Jl2du (MEsX D) (Sl & &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 /122 =4 3,300 3,300 0
osXN&E=E 3,300
04 EA2IYRFLH| 4,200 4,860 A 660
ORN2IEYEF=AHI 350,000& =122 4,200
Hees (M=) 8,853,260 8,953,260 100,000
UWEAHH XS (HESX) 8,853,260 8,953,260 100,000
UWEAHX S (A2 S0IISELEIH E&E3) 8,853,260 8,953,260 2100, 000
701 JIEt3I HEEES 8,853,260 8,953,260 2100, 000
01 JIEtZIHEES 8,853,260 8,953,260 100,000
OA==WIISSLE3A & 8,853,260
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